H2000 Handover Failure due to clock syn mode difference

1. Issue Description
There is no handover signal between two H2000 eNodeBs.
It only shows handover preparation failture when disable the adminstate manually.

Source node: .31

.60.1.32 10.60.1.81 S1AP 1354 10.60.1.32 HandoverRequired [RadioNetwork 1-intra-syst trigger:
.60.1.81 10.60.1.31 SCTP 1494 10.60.1.81 DATA (Message Fragment)
.60.1.81 10.60.1.31 S1AP 1450 10.60.1.83 10.60.1.81 7 HandoverRequest [RadioNetwork-cause=sl-intra-system-handover-triggere:
.60.1.31 10.60.1.81 S1AP 198 10.60.1.31 10.60.1.31 HandoverRequestAcknowledge
.60.1.81 10.60.1.32 S1AP 182 10.60.1.81 HandoverCommand, RRCConnectionReconfiguration
.60.1.31 10.60.1.81 S1AP 990 10.60.1.31 UEContextReleaseRequest [RadioNetwork-cause=failure-in-radio-interfac(
.60.1.31 10.60.1.81 S1AP/NAS-EPS 186 10.60.1.31 InitialUEMessage, Tracking area update request
.60.1.31 10.60.1.81 S1AP 86 10.60.1.31 UEContextReleaseComplete
.60.1.32 10.60.1.81 S1AP 90 10.60.1.32 UEContextReleaseRequest [RadioNetwork-cause=tSilrelocoverall-expiry]
.60.1.81 10.60.1.31 S1AP 86 10.60.1.81 UEContextReleaseCommand [Misc-cause=unspecified]
.60.1.81 10.60.1.32 S1AP 106 10.60.1.81 HandoverPreparationFailure [Misc-cause=unspecified]
Target node:.32

291 309.595152  10.68.1.32 16.60.1.81 scTp 162 HEARTBEAT ACK

P

293 312.255519  10.68.1.81 10.66.1.32 S1AP 682 HandoverRequest [RadioNetwork-cause=sl-intra-system-handover-triggered]
294 312.265953  10.60.1.81 10.60.1.32 SCTP 1494 DATA (Message Fragment)

295 312.265984  18.68.1.32 10.60.1.81 SCTP 62 SACK

296 312.265998  18.60.1.81 10.60.1.32 S1aP 986 HandoverRequest [RadioNetwork-cause=sl-intra-system-handover-triggered]
297 312.266017  18.68.1.81 16.66.1.32 sCTP 1494 DATA (Message Fragment)

298 312.266035  10.60.1.32 10.60.1.81 SCTP 62 SACK

299 312.266042  10.68.1.31 19.66.1.32 S1AP 186 HandoverRequest [RadioNetwork-cause=sl-intra-system-handover-triggered]
300 312.407877  10.60.1.32 10.60.1.81 S1aP 214 HandoverRequestacknowledge

301 312.609333  10.60.1.81 16.66.1.32 scTP 62 SACK

302 312.609382  10.60.1.32 10.60.1.51 S1AP 350 HandoverRequ knowledge, HandoverReq knowled

383 312.818638  10.60.1.31 10.66.1.32 sCTP 62 SACK L
384 316.266147  10.60.1.81 10.60.1.32 sCTP 102 HEARTBEAT

385 316.266186  18.68.1.32 16.66.1.81 sCTP 182 HEARTBEAT_ACK

306 317.433350  10.60.1.81 10.60.1.32 S1AP 86 UEContextReleaseCommand [Misc-cause=unspecified]

387 317.557727  10.68.1.32 19.66.1.81 S1AP 162 UEContextReleaseComplete

308 317.633212  10.60.1.81 10.60.1.32 S1aP 102 UEContextReleaseCommand [Misc-causesunspecified]

389 317.634467  10.66.1.81 16.66.1.32 S1AP 86 UEContextReleaseCommand [Misc-cause=unspecified]

2. Troubleshooting procedure
2.1 Configuration check

Measurement and neighbour configuration is confirmed fine.

Device.Services.FAPService.1.CellConfig.LTE.RAN.Mobility.ConnMode

4 EUTRA Enable 3 Enable boolean
MeasureCtrl .
1t A3Offset o int([-30:30
Information - (0 7
Management A2MeasureCtrl
H Hysteresis 2 unsignedInt([0:30])

4 A3MeasureCtrl

Cell
ich iy SR 5k MaxReportCels 4 unsignedInt([1:8])
il A3MeasureCtrl.2
NeighborList AdMeasureCtrl MeasurePurpose |1 unsignedInt([1:1007])
ASMeasureCtr]
NeighborListinUse i
PeriodMeasCtrl ReportAmount 0 v unsignedInt
IdleMode 4 IRAT
e — B1MeasureCtrl ReportOnLeave [ Enable boolean
B2MeasureCtr]
Debug Reportinterval | 10240 » unsignedInt
X_D837BE_GERAN
Factory
ReportQuantity = both v string
HeMs
Hetwiork TimeToTrigger | 320 v unsignedInt
performance TriggerQuantity = RSRP v string
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Device.Services.FAPService. 1.CellConfig. LTE.RAN.NeighborList Enable Enable bookan
4 LTECel
- g s
4 X_D837BE_PLMNList2
X_D837BE_PLMNLSt2.1 Mustinciude Enable boolean
4 InterRATCel _
PLMNID 72499 string(6)
UmMTS
o D 100 unsignedInt([1:268435455];
CDMAZ000
X_DB37BE_NR EUTRACArTerARFCN 39500 unsignedint([0:65535])
PhyCellD i unsignedInt([0:503])
QOffset 0 v int
c1o o v int
RSTxPower i] int([-60:50])
Blacklisted [CJEnable boolean
TAC 2 unsignedInt([0:65535])

2.2 clock synchronization check

The current synmode Source node is GPS and the neighbour eNodeB is freerun. There is 2 hours time gap.
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3. Solution

Sync Setting:

GPS PTP/

CurrentSyncMode GPS

SyncStatus | Success

SuccessTime | 2023-10-17T19:31:17.658Z

SyncSwitchEnable Enable

SyncModel | GPS v

SyncMode2 | GPS v

SyncMode3 | GPS v

SyncFailureHanding  Ignored ~
TimingCorrectionOffset 0

Modify the “Syncmode” from freerun to GPS and enable the switch “SyncSwitchEnable”.

Make sure the GPS clcok status is success after modify the clcok mode and reboot.

Handover Test Success:
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694 HandoverRequest, MasterInformationBlock (SFN=18), SystemInformationBlockTypel SIB2
218 HandoverRequestAcknowledge, RRCConnectionReconfiguration

1514 SACK DATA (Message Fragment)

194 HandoverRequest, MasterInformationslock (SFN=18), SystemInformationslockTypel SIB2

162 SNStatusTransfer

218 HandoverRequestAcknowledge, RRCConnectionReconfiguration
118 SNStatusTransfer

146 PathswitchRequest

170 PathSwitchRequestAcknowledge

98 UEContextRelease

162 PathSwitchRequest

.1.31 X2AP
1532 X2AP
131 SCTP
.1.31 X28P
.1.32 SCTP 62 SACK
.1.31 X2AP
1.32 X2aP
1.31 X2AP
.1.81 S1AP
S 51AP
.1.32 X22P
.1.81 S1AP
131 SCTP 62 SACK
.1.31 S1AP

154 PathSwitchRequestAcknowledge
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